


zZ =2
7=
—H: Z=-|

AE:
B/
C’/

C urve s -

-,

-
—

D :

6‘/
F,oX-

F6 C HT



Huw 20 5 essenlix //Ef A5 coiCTinwsec s it (0o):

Ly f(x’,w;‘: O ¢ K Flx,y) = 2
x>0

X —=>0 s

o =0

g’, |5 z 55'@47’6(;2“% &(9(.13 < 572/7%(‘“11 e lr S Cé,f ( 2/ %) &

jm,¢4%>c0 L A ﬁ@%>iy?f
X7 2 < —> 2

y =32 Y = X+

h s e sseatially s contineo«s -t 2, o)

% (x—2)
2 (x =2) "~

e —

<> 72 <
Y = X~ 2



Hwz{  We

L .If(x/%)—-— F4, 2—>)§.£ to b
xg) ~ G, = 5 e
D1 = [6c -7y +S-(54-7248)|

“:.l5(>< —) +C7)(y -2
<5« ~4 +?[§{f’“2[

= bs+ 7+
Se, any 5 where
will  de the JOL ’
Rt is e s = Z
T



j:x =~y 5in Gﬁg}) 7:{ . s?n(%%)

Hw?Z 2
| = c/12).
s s (/) =B at Gy = (3, w(12)
T : TN = ‘
ngzn't if)(: ”’[%3“"(5> w2y
Vine !
5lopes® Ijr%:’ D sin C%}:»]

Tamgeit ) E V2 = Cu/24)0=2) 0 y=T/12
[tnes - 1 > — 3= )ly-=/12) XK=



/ ]
| £, | 7, o) | FabD | £ 60
742..%3 7 % ’“%(éz‘ E ;\ | 6
X‘Z%_‘ ZX%»P{ \ "XZ%’Q ‘ 23
. . —1! i?a
)szﬁx”w (kadi)l f(x/%) O : {
— — .} ]
Foy) [ | dy [Fobdefeh dx+F )y
sz,%s 0.1 | 0.03 O.16
xL%’"' 0,@5\—-—0,05 .03 &
Qn(x—y) " 0.5 J 0,2 | O. |



%2%6 92_@___9)< 4_92—% ’ | H(/UZé

0z _ 92z ox 0= 24
36 Ix 09 Dy 00 )
7{/‘ v
%%: = :/V@X%+X%@ %/g;Tf“(x+‘aL>@X%

‘ X/ ’ X/\d,
02 _ o =Nty (xty?) = (i) e
@%ff L - x = ) (S ﬁ/é e -\j—B\
W hen r=2 & @:’;T\'/é) (d:ZscﬁmT/é’z:( S
hich implies @) 2, =(Fe0” & 2, =(F-3)e
,ax,/ar;- XY‘ CCC’_S‘G '»Z\I?/Z }:;\/’L@((g) F\%% (4 @2—-@
5\) Sx/&é‘ﬁ X@‘:———ré(‘“n@’;"l (nto @: L
e R E N P eI
& Cufs)=(oey 70 ~



#266 S — 2(%%‘(‘ y =+ %x>

;@; T Ox dt 5% At D= JT

J
|
S

95/9x = Sx - Z(%L+Z> = .
@S/aggsw;2(2‘+><>: é(‘n, . @
N TOM ST,
d?x/y({/fﬂzf/alf’: d}%/a/f; 2.5 M/m.’m @)

ﬂwgf | A @) &(@ o @«l *;(:E‘:\ZLM /m(eu)



#057

T+ @X JLL AT
s 4,
O )
CTX 3 T ) <H’ 3) O Oxg)=(2,3)
—~ V2 !
bo/dt= L0477 = Ly
J%/Jff /% :i (‘3 <,
X:m /:j'( - %j:':?(X)T«é):(%3>
y = 2 +€t/72 — 3 | |
| aC t=73
Plbl% /&Z #5 ‘o @ - ﬂ — 2_ )

At

(Tle b F dT/d6 we °C/rens,)



Line  tongal 1o 5 = Flyg) ot Copy) = (2, O
&770> <><” J%"(> w heve

gl

§ 9] F l o @ZA/ 1 m__,_,._ﬂ__,,__ﬁ.____;_, ______________________ B :
9 (o 1.<»0>‘<0/-'>’ 5| D)
DA _ 16 | 32| M6 (-le 2] 8/

(D, #X /ZJOB N R



\

@ AT (x,9,2) =2 L 1)

/

/L/W%%Z = Y4 = Jﬁ(;g, «@%)‘f— 2 %4‘“%%4*%7;
s glver QOBL O = <$ 79(2/\/ ) '<X'-Z/ %,4)2,(>
whene §7C';<gx3/\%f%> sz'%>,;<é%)(,}/|+>

—

gy, S Be plee gt by

el Hw 28
L{.

D= 64(x-2) + fly-D+4(==1).

(Th% 5?%?}(*}7{@55 (2 3% = | 6w + Y + = . >
(D A .?\of 3%5{;{@5{65 (X/ bL) = (Z/ (> s wel e fe.ww“é(
\D(QC@ '657 5’(64%é- —%O §'IL‘€FS fV/% ’(jfuzzte, QS‘(ﬂ"&g{,
g=0.05 yields  (xy)=(2.506627,0.6266562)

e



HW?28 #1 solution

n Xxn yn f f x fy epsilon
0 2.000000 1.000000 0.255654 2.611063 -0.832294 0.05
1 2.130553 0.958385 0.718803 3.762428 -0.966977 0.05
2 2.318675 0.910036 1.474241 3.185138 -1.190686 0.05
3 2477931 0.850502 1.849193 0.271620 -1.266951 0.05
4 2.491512 0.787155 1.921901 0.076549 -0.948187 0.05
5 2.495340 0.739745 1.960799 0.080683 -0.677889 0.05
6 2.499374 0.705851 1.980699 0.045833 -0.480344 0.05
7 2.501666 0.681834 ~ 1.990603 0.032623 -0.336510 0.05
8 2.503297 0.665008 1.995454 0.021193 -0.234755 0.05
9 2.504357 0.653270 1.997809 0.014437 -0.163232 0.05
10 2.505078 0.645109 1.998946 0.009735 -0.113320 0.05
11 2.505565 0.639443 1.999494 0.006648 -0.078584 0.05
12 2505897 0635514 1.999757 0.004546 -0.054462 0.05
13 2506125 0.632790 1.999883 0.003123 -0.037729 0.05
14  2.506281 0.630804 1.999944 0.002149 -0.026130 0.05
15 2.506388 0.629597 1.999973 0.001482  -0.018094 0.05
16 2.506463 0.628693 1.999987 0.001023 -0.012528 0.05
17  2.506514 0.628066 1.999994 0.000707 -0.008674 0.05
18  2.506549 0.627633 1.999997 0.000489 -0.006005 0.05
19  2.506573 0.627332 1.999999 0.000338 -0.004157 0.05
20  2.506590 0.627125 1.999999 0.000234 -0.002878 0.05
21 2.506602 0.626981 2.000000 0.000162 -0.001992 0.05
22 2.506610 0.626881 2.000000 0.000112 -0.001379 0.05
23  2.506616 0.626812 2.000000 0.000077 -0.000954 0.05
24  2.506620 0.626764 2.000000 0.000054 -0.000661 0.05
25  2.506622 0.626731 2.000000 0.000037. -0.000457 0.05
26  2.506624 0.626708 2.000000 0.000026 -0.000317 0.05
27  2.506625 0.626693 2.000000 0.000018 -0.000219 0.05
28  2.506626 0.626682 2.000000 0.000012 -0.000152 0.05
29 2506627 _0.626674 2.000000 0.000009 -0.000105 0.05
30 ¢ 2.506627 0.626669 1\ 2.000000 0.000006 -0.000073 0.05
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